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Section - 1 : Fundamentals of Computey, Evoiution of Computers, Memaory & Storage Devices, Using Windows, MS-WordiLinks, Mall Merge, Macros, Exploring

Seytes group], MS-PowerPoin

ofWorking with Shdes Master and Themes, Advancing shdes using Hypedlink and Adtions, Customizing and Broadcasting Side Shows),

Wt-Excel (Components of MS-Exdel window, Editing and formastting cefls i 2 weorlshest, Introduction 1o Formedas, Serting and Bltering data, Matios, Features of
et and Page layout tabs), Programeming in QBask, Internst & Vinses, etworking, Latest Developments in the field of IT

Section - 3 : Higher Onder Thiniting Questions - Syflabus. & per Secion - 2,
Questions are based on Windows. 7 and M$-Office 2010,

1. Which of the following options will complete the

given seres?

-—.) - l |(—- | ?
|13 ® |13
© |} 3 o1

2 f TOGETHER is written as RQEGRJCT, how
will PAROLE be written?

(A) NCPQJG (B) NCQPJG
(C) RCPQJK (D) RCTONG

3. Inthe given figure, the triangle represenls girls,
square represents sporispersons and circle
represents coaches. Which portion of the figure
represents girls who are sportspersons but not
coaches?

6. MBP is a short form for a famous high end
notebook from Apple. It is called ;
{A) Macintosh Book Pro
(B) Mac Book Programmable
(C) Mountain Book Pro
(D) MacBook Pro

7. Youcan join an Active Directory domain in which
ol the following Windows 7 versions?
(i} Windows Home Edition
(i) Windows Professional Edition
(i} Windows Ultimale Edition

LOGICAL REASONING

COMPUTERS AND INFORMATION TECHNOLOGY

(A) A
B) B F
(C) C

(D) D p~E

Five boys A, B, C, D and E are standing in a
row. A is between C and D and B is between D
and E. Which of the lollowing palrs represenis
the boys standing at both the ends?

(A) C.B (B) E.C

(C) E A (D) A.C

A man goes lowards east five kilometres, then he
takes a tum towards right and goes five kilomelres.
He again takes a tum lowards right and goes five
kilometres. With respect to the point from where

he started, where is he now?
{A) East (B) Morth
{C) Wesl (D) South

{iv) Windows Enterprise Edition

(A) Only (i) and (i)  (B) Only (iv)
(C) Only (ii), (i) and (iv)
(D) Al of these

The function of ‘Wrap Text’ icon in MS Excel is

used 1o .

(A) Join selected cells into one larger cell

(B) Rotate text lo a diagonal angle

(C) Make all content visible within a cell by
displaying it on multiple lines

(D) Highlight interesting cells




9.

10

Match the following terms with what they stand
for

Term Stands for
(i) .com {a) Education
(i) .edu (b) India
(i) .in (c) Australia
(iv) .au {d) Commerce

(A) (i)-(a), (i-(b), (iii)-(c), (W)-(d)

(B) ()-(b), (ii)-{e), ()-(d), (v)-(a)

(C) (i)-(e). (ii)-{d), (ii)-{a), (W)-(D)

(D) ()-(d). (ii)-(a), (iii)-(B). (v)-{c)

A browser is an interactive program that permits

a user 10 view web pages on the computer. The

browser perfomns which of the following senvices?

(A) Connecling to the source compuler whose
address is specified

(B) Requesting new page from the server

(C) Receiving new page

(D) Al of these

1

Modearn Computers compared to earlier
computers are
(A) Faster and larger [B} Less reliable

{C) Larger and stronger (D) Faster and smaller

12. In MS-Word, which shoricut key is used to

13

increasa the font size of lext?
(A) Cil+F (B) Ctrl + Alt + F
(C) Ctd +Shift+> (D) Ctrl + Shift + X

Match the virus types given in Column-| with their

comesponding examples given in Column-l.
Column-| Column-l

(a) Macro Virus {i) Lamer Exterminator

(b) Boot Seclor Virus (i) Natas

(c) Polymorphic Virus (iil) Melissa

(A) (a)-(in), (B)-(1), (c)-()

(B) (a)-fi). (b)-(), (c)-(ii)

(C) (a)-(ii), (B)-{i). (c)-(iii)

(D) (a)-ii), (b)-(1). (c)-{7)

14,

.H.CHIE\FE HE SEGTIDH

Match the following output devices given
in Column-l with their descriptions given In
Column-1l.

IIC] {a‘,n {illL [b‘.i 'lHL {t‘-} {II
(@) (a)-{), ()-(i), (c)-()

15 .Which of the following DEhEIC cﬁdes will
Gﬂlumﬂ-l Column-ll prm the gh-l'ﬂl"l MPU‘I?
(a) Voice Response (i) M produces Qutput:
System audio oulpul by 1
selacting an audio 12
output from a set 13
of pre-recorded (A) FORx=11TO15(B) FORx=11TO 15
audio response, PRINT x PRINT x
(b) Voice Reproduction (i) It enables a IF (x = 13) THEN IF (x == 13) THEN
Syslem computer to \alk EXIT FOR EXIT FOR
lo a user. NEXT x NEXT x
(c} Speech (iii) Mtconveristext (C) FORx=11 TO15 (D) FORx=11TO 15
Synthesizer Information into PRINT x PRINT x
spoken sentences. IF {x <= 13) THEN IF {x = 13) THEN
(A) (a)-(i). (D)-(i). (c)-(ii) EXIT FOR EXIT FOR
(B) (a)-(i), (b)-(i), (c)-(ii) NEXT x MORE x
£ .,‘1,, Total Quession . 50 Time: 1 be
N S T PATTERN & MARKING SCHEME
Section | (1) Logical Reasoning ::1 Science | mm Saction
Moolouestons | w0 | 3 Res SO IR
su:nu:: m:nrun Marks per Ques. 1 |
SYLLABUS

Section = 1 Verhal and Non-Verbal Reasaning

Section = 2+ Heat, Motion 2nd Tene, Electric Curment and its Efects, Winds, $torms and Cyclones, Loht, Acds, Banes and Sas, Physical and Cheeucal Changes
Weathes, Climate and Adaptations of Anemals 1o Clmate, Fibre 1o Fabric, Nutrition in Plants and Animaly, Respestion in Orgarisms, Tramsponiat jon in Plants and
Aririaly, Reproduction in Plants, Katural Resources snd Thedr Conseration

Section = 3 : Higher Order Thinking Cruisions - Syflabus o per Sedton - 2,




T.

Sample Paper | Class-7 | SWF

LOG!CAL REASONING

It ‘+" means ‘x’, =" means ‘&', "%’ means =" and
‘2! means '+, than what will be the value of
16:64-8x44+2=17

(A) 18 (

(C) 24 (D)

2. Selecl a flgura frcm the options which will

continue the same series as given in the

Problem Figures.
Protidem Figures
olsia | zysje | &) o o =
1 2 3 4 5
@ | L8 ® |k
o] of

How many 5's are there in the following
sequence such that the sum of the two
immediately following digils is greater than the
sum of the two immediately preceding digits?

A body moves with uniform velocity, Which of
the graphs shown here is a graph of distance

against time for this motion?
(A) g (B) g
|V A
Time Time
g 8
©) k © § {
[a] o
Time Tlrne

X Is present in the stomach. However, presence
ol excess of it causes indigestion, which requires
the intake of milk of magnesia o undo the effect
of X. What is X7
(A) HCI

(C) NaOH

(8) H,80,
(D) KOH

The part of the plant shown in ﬁgura helps
oul in

(A) Pholosynthesis
(B) Respiration
(C) Transpiration
{D) Al of the above.

T ——— Sl —
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10.

1.

_lG} 45ms”’

(A) One (B) Two
(C) Three (D) Four

Anuradha rﬂmﬂmbels that her friend had visﬁad
har after 13™ but before 18" of the month, while
Anuradha's sister remambers that Anuradha's
iriend had visited after 18™ but before 20™. If
it was Saturday on 16™, of the month, then on
which day of the week, Anuradha’s friend visit
her?

(8) Monday

(A) Saturday
{5_7-] $unday ___{El_”qm of these

A piece of paper conlaining six joined squares
labelled as shown in the diagram is loided along
the edges of the squares to form a cube. The
label of the face opposite the face labelled X
is

(A) Z E‘

fufviw
(B) U -
< v 2]
() Y

The given diagram shows a series of images
of a moving ball captured by a camera.

15 m

PO0IOGO0

Direction of moving ball —»

The ball was moving at a constant velocity and
the images were laken at a constant rate of
10 per second. What is the speed of the ball?
(&) 30ms’ (B) 20 m s*!

(D) 15ms!

The temperature al which no more energy can
be removed from matter is called

(A) Absolute zero (B) Boiling point

(C) 32°F (D) 32°C

minhmeunhafnunwingismmfnrnnwmmi
reactions?

(A) There is a change in volume

(B) Heat is evolved

(C) Chemical bonds are broken or formed
(D) There is a change in mass




12. Which conditions would result in the highest
rate of movement of o from the alveolus

into the blood capillaries?

Conceniration Concantration Rata of
of oxygen in  of oxygen In  blood flow in
the alveolus blood capillary blood capillary

(A) High Low Fast
(B) High Low Slow
(©) Low High Fast (A) Lime water in tes! tube B tums milky
(©) i High Stow {B) Lime water in test tube C tums milky
& (C) Potassium hydroxide solution in test tube A
13. Study the given set up of an experiment. You tums red

will observe that (D) Temperature in the flask will go down.

14. A painter leans his back against a painted {i) Which arrow indicates a process that would
wall while looking into a 1 m long mirror at the not lead to sexual reproduction?
opposite end of a reclangular room as shown (i) Which arrow represents a type of pollination
in the given figure. How much of the painted that would result in grealer adaptability
wall can he see through the given mirror? ol the particular species 1o potential
(A) 1m L8 lon miver. environmental changes?

(B) 2m | - )
Pairler fyg i)Y, (i)-Z2 | /7 =
(©) m el o W
(@ 12m A ®) (-2 (ir-X ]*4 =,

15. The given diagram shows two plants of the (C) ()-Y, (i)-X Ii {ﬁﬁ Plant 2
same species. Refer to the diagram to answer a7 ==
the following questions. W W WhY Piant 1

| .il”ir.‘,‘..*- wllat mmﬁ}“ FI'I'IE:TI‘I.
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Section - 1 : Verhial and Non Vertal Re

Haonihg
m-i:mwwmmtmxﬂMW£mwquumlmwmcmmm
mw its Propeties, Symmetry, Congruence of Tisngles, Rational Numbers, Peimeter andd Area, Data Handling, Visualaing Sofid Shapes, Pracical

Seciion~3: mmdmmﬂmmﬂnumﬂummmmq
Section - 4 : Higher Order Thinking (uestions - Syfiabas a5 pi Sextion - 2

LDGICAL REASDNIHG

1 Whlm wﬂl coma nmn h tln aaﬁas? 3. Whlch of 1?1& inlsmldng upliuns most closaly

&L by ot 2 resembles the mirror image of the given word,
(A) ef (8) gh if the mirror is placed vertically to the left?
(€ (D) dw STROKE
e D (A) 2TROME (B) EKORTS
2 :‘:?T number will replace the (?) in F:.; (X)? (C) ROKETS () 3HOAT2
b ' 4 Count the number of trangles in the given figure,
(8) 2 (A) 8
(C) 3 (B) 10
Sl St (©) 12
(O) Fig. (X) (D) 14




MATHEMATICAL REASONING

i WA (A) 25n
'I'hua]muiu 22_ (B) 25—n
1 3 (C) 25+n
(A) 5 (8) 5 (O 25:n
©) 21 (o) 23 8. What is the prime factorization of 457
& B (A) 22x5
6. This rectangular prism has a length of 14 em, (B) 32x5
a height of 8 cm, and a width of 3 cm. (C) °x 3
What is the volume? (D) 5*x9 _
l ; 14 om \ 9. Thevalue of 11.3x 2.7 =
' < ﬁ = (A) 29.31
(B) 29.51
25 om (C) 3031
(A) 25 cucm (D) 30.51 . -
(B) 42 cucm 0. ¥ Gikia 60 e
(C) 112 cu cm :':nh gnm' paise on ¥ 60, His gain percent
(D) 3Beuem = N (A) 1%
7. Which expression represents the product of n (B) 0.1%
and 257 (C) 2%
(D) 1.1%

EVERYDAY MATHEMATICS

= -

12. In a parking lot, 1 out of every B cars is blue.

- 3 2
11 Kartik can throw a ball 503 metres high. Ayan What percent of the cars in this lot are blue?
A) 1.25% {B) 7%
th ) . {
can throw the same ball 433 metres high, How (C) 9% (D) 12.5%

much farther can Kartik throw the ball than 13. /A duck flew at 18 Kiii par hour for 3 hours, then

"""a"?z ) at 15 km per hour for 2 hours. How far did the
“ m B) 22 m i
A %15 ® 255 duck fly in all? Speed=n"$1l:‘":“
(C) zg m (D) z-g- m (A) 69 km (B) 75 km
(C) 81 km (D) &4 km

ACHIEVERS SECTION

14 In a quiz, 40 prizes consisting of 1* and 2 15. Study the given statements.
prizes only are o be given. 1* and 2™ prizes Statement-|: ¢ and h are
are worth ¥ 2500 and ¥ 1500, respectively, If supplementary angles.
the total prize money is ¥ 85,000, then Statement - Il : ¢ and g
(i} The equation formed is

ol et are equal angles.
EE} Tﬂhi: m:gﬁmﬁ Which of the following options is correct?
(0] (i) (iil) (A) Both statement-l and statement-Il are true.
(A) 2500x + 1500(40 - x) =8B5000 25 15 (8) Statement-! is true and statement-ll is false.
(B) 2500x - 1500{40-x)=85000 36 4 (C) Statement-l is false and statement-Il is true.
(C) 2500x x 1500(x ~ 40) = 85000 20 20 (D) Both statement-l and statement-ll are
(D) 2500x - 1500(x - 40) =85000 15 25 false.
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Section - 2: Search for ard retrieve inkormation from warios ted hypes ke News stories, Brochures, Formad and informal leters and advertisemente Understand
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Notices and Messages stc
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Section — 4 : Higher Order Thinking Quistions - $ylabus 25 per Sectiors 1, 2 and 3

WORD AND STRUCTURE KNOWLEDGE

Direction (Q. No. 1 and 2) : Choose one suitable (A) The faster (B) Fast

word for each blank {C) Fastes! (D) The fastest
. Somecne whointerpretsis . . Find the incorrect part of the sentence.
(A) Aninterpretist  (B) Aninterprete “The prisoner / never told me, Sir.” /
(C) Aninterprecian (D) An interpretor (A) : (B)
4. Many diamond mines are in South ) DI
(C) (D)
(A) 5-1 ation (B) Situate Direction : Complete the conversation with the
; e carrect word.
_. (C) Situated (). Sivgling 7. Ravi: Did you invite her to the party?
3. Choose the odd one out. Rahul: Welll Being invited is one thing,
(A) Disappear (B) Disperse inviting oneself is another.
(C) Dissipate (D) Disadvantage {A) However (B) Whereas
""" iy = (C) Compared lo (D) Eﬁidm_

4. Find the correct phrase. s sl 8
(A) Slowandstudy (B) Slowandsteady © In which sentence is the word ‘to’ correctly

(C) Slow and fast (D) Slow and heady used?
T = '* Tikh 18 A (A) This watermelon is to heavy.
Direction Chno.*\:.n the right word (B) Hold it with to hands.
5. All children did well in the marathon but Rahul (C) It's very slippery to.

was - (D) Well, hand it to me.

-

Direction (Q. No. 9 to 11) : Read the passage and got near the bank of the lake, a troop of frogs

answer the following questions. frightened in their lurn by the approach of the
“There is always someone worse off than you.” rabbits, scuttied off and jumped ino the water.
; ; “Truly”, said one of the rabbits, "things are not

, the ra of Jim o :
wm“mwmmr o c"mm 50 bad as they seem.” There is always someone

did not know where lo go. As soon as they worse off than you.

saw a single animal approach them, off they 9. Rabbits wanled lo drown themsalves because
used to run. One day, they saw a troop of wild

horses stampeding about and in quite a panic (A) They were scared of the horses.

all the rabbits scuttied off to a lake close by, (B) They did not like Iiving under fear.
determined to drown themselves rather than (C) They were chasing the frogs.
live in a continual state of fear. But just as they (D) They had nowhere 1o go.
“— ST | Sample Paper | Class- 7 se—




10. Rabbits ran away from other animals because

(A) They wanted to drown themselves.

(B) They shy.

(C) scared of being stepped on.
(D) They were arrogant.

Direction (Q. No. 12 and 13) : Find ene sentanca
to compilete the dialogua

12. Sentence 1. God wanted the people he had
created to have a happy life.
Sentence 2.
Senlence 3. Water, air and sunlighl were,
therefore, given in abundance,
(A) That's why he decided to bless the earth

with riches.

(B) People had to live with water, air, and sun.
(C) Earth could have them in abundance.
(D) Therelore, he created the earth.

Direction : Choose the besl word / phrase lo
complete the senlance.

SPOKEN AND WRITTEN EXPRESSION

ACHIEVERS SECTION

Diraction

11. Which of the following words would you use to
describe tha feeling of the rabbits on seeing the
troop of wild horses?

(B) Unfriendly

(A) Frightened
(C) Worrled (D) Hostile

13, Sentence 1. From ancient times Indians have

worshipped plants and trees.

Sentence 2.

Sentence 3. While modem man ofien works to

‘conquer’ Nature, ancient Indians worshipped her,

(A) They regarded all flora and fauna as
sacred.

(B) These plants give us food and oxygen.

{C) They lend beauty o our surroundings.

(D) These plants sacrifice themselves to serve
us,

: Choose the appropriate idiom.
15 The teacher approved her project after she had

14. The new enginear has qualifications it.
but only a few menths experience. (A) Fine turned (B) Fine tuned
(A) A plenty of (B) Plenty (C) Tinkered with (D) Refining
(C) Plenty of (D) Alotof
SPACE FOR ROUGH WORK

ANSWERS
RCO - 1.(8) 2 (A) 3 (B0 4 [B) 5 00 G D) 7. IC) B (O3 9 (D) 10. (@ 1. {0 L {0y 13 (A) 1408 15 ()
NSO- 1D 2.(0) 3 (00 4 {€) S ([0 & (A 7 (&) & (D) % (A) 10. (A} 10 8C) YL (BN 13 (B) 4. (B} 15 {C)
Wo~- Lol 2. ()3 (0 4 (O 5 (0 6 7 (A & (8) 9 () 10 W . B 12 (07 13 (DF M. (A 15 (C)
B0~ %8} X (€} 3 (D} 4 (B) 5 (00 & 0C3 7. B & (0 S (8) 10 O "W A 4 3 A 1l 15 )




